MATH1050 Exercise 2 Supplement (Answers)

1. —— (n) 2<z<—-lor0<z<3.
2. — (0) z<0orz>1
3. (a) g(z) = 2% — (8 — 6k)z + k% = 22 + (6k — 8)x + k5. (p) >2
(b) The discriminant Ay of g(x) is given by A, = 2
< -z > =,
41— k)(4— k)2 (@) @ s
(c) k =4. (r) @< -3
A (8) 0<z<2
1
5. 11. (a) —Z§x<00ra§>2.
6. —
7. — (b) —%§x<g.
8 (a) z<2o0rxz>3
(b) -l<z<2 12.
() -8<x<—2 13. —
(d) —2<z<0orxz>8. 14. (a) —
() x=1lorxz>4 (b) f attain both values —3, 1.
(f) z<lorz=3. 15, (
. (a) —
(g) x<—-3or0<z<lorxz>2 (b)
h) 1<z<2o0r4<z<8.
by lsz<2ordszs (c¢) f attains the value 4.
9. (a) 0<z<lorz>5.
16. ——
(b)) z<—-lorl<z<2
(c) z<—2o0rl<z<L5. 17.
(d) -1<z<—-050rz>1. 18
(e) -l<z <4 19. —
(f) z<—2o0rz>3. 20, ——
(g) < —-lorl<z<3. 21.
(h) z <2o0r x> 4. 929
(i) 1<z<2o0ord<az<b. 93
() l<zx<2o0r3<z<4. '
k) 1<z<2 24.
z<—2or—-1<z<lorz>2. 25.
(m) z < —2o0rax>2. 26. ——
10. (a) -b <z < —1. 27 ——
(b) —3 <z < 12. 28.
1
(¢) = <z <5, 29.
5 30, ——
(d) x<—-2o0orz>6 '
() x<—9orx>4. 31.
(f) z<0orxz>12. 32, ——
(g) 8<z<—6or—-l<az<l 33. —
(h) —1 <z <5 34. (a) A=—1/2
@) z<-2orz24 (b) f'(z) < 0 for any = € (0,6); hence f is strictly
() 2<z<0orl<z<3. decreasing on (0, 6).
1 1 1 1
(k)x<—10r—i<x<§oraj>§. 35, ——
) —7<z<-2o0r2<z<T. 36. —
(m) -l1<z<2 37 ——



